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9 4 H PH-H qa s T 2
1) ERfE # AR (2) f<qd® a9 & AfHn
(3) wd B I = AYFER (4) " IJTER F AGFR

Fundamental Duties were inserted in the Constitution by

(1} 42nd Amendment (2) 44th Amendment
(3) 47th Amendment (4) 49th Amendment
@ wASE H GRuE § W e

(1) 4291 |9 g (2) 449 |IMET g
(3) 4791 HYITA g (4) 4931 TYNEA g

‘Right o Education” was inserted in the Part III of the Constitution by :

(1) 82nd Amendment Act (2) 85th Amendment Act
(3) 86th Amendment Act (4) 89th Amendment Act
Sfagm & dmt wm § R w5 st e e

(1) 82a "R sfufEE g (2) 859t @A afufEm g
(3) s6al Gy sulEE gR (4) 89 HYHA IAfEN ZW

What is the meaning of lex loci ?

{1} Law of land

(2) Sovereignty is essential for enacting laws
{3} Law of land is supreme

4] Crown has supreme authority

29 B0,
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No. of Questions/JvAT it 5w4T : 170

Time [H9 : 2 Hours /502 Full Marks/qUife : 450

Note/Z : (1)

94|

This paper consists of Objective Type Questions and is divided into
TWO Sections (I and II) as under :

T2 Y-T9 SEfAEedd Sl W UG R aur  @vel (1 w6 1) # fawe
%, ?%‘FI'I ] Fﬁ% Elﬁfﬁ % .
(a) Section—I consists of 130 Objective Type Questions on General

Awareness, Current Affairs, Common Legal Knowledge, Aptitude
and Mental Ability.

(&) wos—1 # 130 FfFedm w7 Fw= IH, awie fawdl, @m
faftrs e, AR w@ wafas dmaa w st €

(b} Section—II consists of 20 Objective Type Questions each on
(i) English Language and (ii) Hindi Language.

(@) wus—II (i) st s o (i) ' 9w % §W w smaf@ #
Yk e ¥ 20 sgfawedid IH

A candidate is required to attempt as many questions as he/she can in
Section—I, and questions of ANY ONE of the TWO Language papers
(i) English or {ii} Hindi in Section—II.
el ¥ aifed ? fF @uE—I aw wuE—II ¥ () WS o (i) e
AT % ST S R g H

Each question is followed by Four alternative answers (1), (2), (3) and
(4). Only one of these answers is correct. Select the correct answer and
record it against the relevant question by darkening the circle with Ball
Point Pen in the Answer Sheet, as per the guidelines.

TeF Y+ R dHE I e 1 E SR (1), (2), (3) 1 (4) gl
§ eyt mr 2 3 A Fad UF € IW TR R EH IW W S AT
AT IEF HHE H IW-uF A dedrel W & AmW MHowngen st g
() F ATt W@igZ UF g FE F s

1 (P.T.0.)
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(2) If more than one alternative answers seem to be approximate to the
correct answer, choose the closest one.

afe U defcud I 9E IO B Mhe Ud| @, & Feaw g@d 3
21 |
(3) Each question carries 3 marks. One mark will be deducted for caci.

incorrect answer. No mark will be awarded for the unattempted
questions.

TAF IH 3 HF K Bl IdH dd IW F U = A FE oww
ST YW W s g fod s
Section—I

TSI

1. Which part of the Indian Constitution has been described by Nani Palkhivala as
an ‘Identity Card of the Constitution’?

{1) Fundamental Rights
(2) Directive Principles of State Policy
(3) Federal Structure

(4) Preamble
qRd & Afaum & fRR am & T weseen g WEeN # ogmmm ug F o=y ow

afvta A 27
(1) uel s (2) T & fif7 Fdvs iz
3] BYEHF gl (4) TeTEAT

(94) 2
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In which part of the Constitution of India, a provision for promotion of
International Peace and Security has been made?

(1} Fundamental Duties
(2) Fundamental Rights
(3) Directive Principles of State Policy

{4) Preamble

WA o HIGUE & fRE W § F=iPe Wi U9 g & I ¥ fY waum e
T R '

(1) 9o Fed (2) & AYFER

(3) T & Aify s g (4) ETET

Which of the following Commission was appointed for creation of new States on
the basis of language?

(1) Fazl Ali Commission {2) Sarkaria Commission

(3} Nanavati Commission {4) Liberhan Commission

W WHE WO TSN F A & o Fefafas 4 8 B oad w0 e
LIE IR 18

(1) o= ofeft a7 (2) HREITET 3T
(3} TR TR (4) feFemem amim

In India the concept of the ‘Person of Indian Origin’ (PIO} was introduced in

vear
(1) 2015 (2) 2002 (3) 2006 (4) 2016
3 (P.T.O.)
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ad # ‘aredE g@ w AR (Pm}%;armaﬁw%ﬁm%mwaﬁ;

(1) 2015 ® (2) 2002 H (3) 2006 H (4) 2016 H

5. Fundamental Duties were incorporated in the Constitution of India on
recommendation of :

(1) Motilal Nehru Committee (2) Swaran Singh Committee
(3) Arun Jaitly Committee (4) Malimath Committee
wiE ¥ "EyE § g9 #We #t gwEtE G own

(1) Ardfieme 486 Ak (2) = o =T

(3) o sreeft wfafd (4) e afifq

$ dgfrat

6. The Chairman of the First Official Language Commission was :
(1) B. G. Kher
(2] Balwant Rai Mehta
{3} Govind Ballabh Pant
(4} Choudhary Charan Singh
T AT S IAH o
(1) o Sfte @ (2) S@Ed T Ul
(3) M= W@ ud (4) =ufl = fim

(94) 4
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7. Which of the following Schedule relating to Urban Local Bodies was introduced

194

by 73rd Constitution Amendment Act, 1992 ?

el R e | gt e orgE W afe duites sfifem, 1992 ¥
afeyfer forar man?

1) IX 2) X 3) XI (4) X1

Schedule 1II of the Constitution of India is related to

(1) Salary of President and the Governors of States
{2) Oath/Affirmation by Ministers

(3) Legislative Powers of Parliament and State
(4) Official Language

g % afgem & fel g e 2

(1) wpafd @on TSA % TS % ded #

(2) ofEt & woyu wfegm @
(3) F9g @ T iy & foueht wfet @

(4) Tl |

To resolve the disputes relating to waters of inter-State rivers, the Constitution
of India has made provision in Article :

(1) 262 (2) 263 (3) 260 (4) 258-A

s A ¥ 9 gt EEl W e w9 % 6 afaum d geum fEn
TT?H%:

(1) =g 262 H (2) sIg=d5 263 #
(3) =g 260 H (4) =¥ 258-A H

5 (P.T.O.)
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10. The Union Publc Service Commission sh

11.

12.

(94}

41l submit its Annual Report to the :

(1) President
(2} Speaker
(3} Prime Minister

(4) Ministry of Personnel, Public Grievances & Pensions

g die d Al anw gl S

(4) Fift=, & fEFEa @ dvE G B

International Criminal Court (ICC) is located at :

(1) Switzerland (2] Hague (3) London (4] Geneva
srid stvufs ~maeE sEfeE ¢ o
(1) fgewve & (2) & & (3) = # @) 3 A

Who among the following has been e¢lected twice as the Judge of International
Court of Justice (ICJ)? '

(1) Justice R. S. Pathak (2} Justice Dalveer Bhandari

(3) Sir B. N. Rau (4) Justice P. N. Bhagwati



13.

14.

94)
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(3) W Fo Wo T (4) = do To wirash

The National Biodiversity Authority is in :

(1) Mumbai (2) Bhopal (3) Chennai (4) Dehradun
e sra-fafouar wifesr 2
(1) g o (2) ot & (3) o= # (4) 50w 1§

The term doli incapax is meant for :

(1) child below 7 years

(2) child above 7 years but below 12 years
(3) child below 18 years

(4) child below 14 years

77 gicht gFHTa €

(1) 7 o & wn firyg & oo

(2) 7 a8 & W g 12 ad & 0 firyg & fod
(3) 18 o€ A T AY F TR & ford

4) 14 9§ ¥ F9 AF & dOF & oM

(P.T.0.)
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15. In which of the following States the provisions of anticipatory bail 1%

available?
(1) Andhra Pradesh (2) Maharashtra
(3) Uttar Pradesh (4) West Bengal

ffafag § @ fF U9 § oW SuEd w1 TEYE IA9s FE 27
(1) swwew d  (2) Wewg o (3 WM A (4) IEEH ae i

16. Under Article 13 of the Constitution of India, which of the following 1s not

‘Law’?
(1) Circular {2} Personal Law
(3} Custom (4) Notification

v F uRYE ¥ ogsa 13 F e frafafas o ® # By w27
(1) gfea= (2) =i fafy (3) W (%) (4) Ffeferem

17. The Constitution of India came into force on .

(1) January 26 (2) August 15

(3) November 26 (4) April 14

Wi w1 TfaumE @ R o o

(1) 590 26 & (2) 9T 159 (3) 9w 26 @ (4) 37T 14 #

(94) 8

e
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The Residuary Legislative Power under the Constitution of India lies with :
i1} Parliament

(2] State Legislature

(3) Parliament and State Legislature both

(4) President of India

uTA & Afaue % oa savl [9urE wie e ?

(1) =95 | (2} Tsa foenfaee

(3) THg au sy faunER gl d (4) wra & Tgafa A

The following age group of children are entitled to free and compulsory
education under RTE Act, 2009 :

(1} 512 years (2) 6-14 years (3) 8-16 years (4) 7-18 years

ffafgs § @ fF0 39 wqE % wo HW w9 oAWard fien sfafEm, 2009 %
A BRER B

(1} 5-12 @ (2) 6-14 a9 (3) 8-16 =4 4) 7-18 a4

Which of the following reduces the offence of murder to culpable homicide?

(1) Unsoundness of mind (2) Intoxication
(3] Provocation (4) Accident
Sfafigg § § #M T & 390 &I AHegg § fefa woEd 2
(1) e faepid (2) e (3) TR (4) gEe
9 (P.T.0.)
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21.

22.

23.

(94)

UIDAI is responsible for implementing :

(1) MNREGA Scheme (2) Aadhaar Scheme

(3) Swachha Bharat Scheme (4) Digital India Scheme
FoTEodloTo R0 fFamwam & fod arft 2

(1) #CM A (2) 3TER ST

(3) == WG I (4) Tesftem sfean aremn

What is the term of non-permanent members of the Security Council of th
United Nations Organmzation?

(1) 6 years (2) 5 years (3) 2 years (4) 4 years
wqw TgEE R g IR % ot aeel w1 wiee Reen e 20
(1) & ¢ (2) 5 ad (3) 2 oy (4) 4 a9

Which of the following Judges of the ICJ delivered judgement in Kulbhushun
Jadhav Case?

(1) William Webb (2) Rommy Abraham
(3] Pitt Cobbett (4) B. N. Cardozo

fefofas =mndiot & & ffed amgodtodto ® FoMw 9d F wme 4 vk mam
- gl

(1) faferam I== (2) Tt ey
(3) fiz =g (4} e To Fretsn
10
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24. Who of the following administers Oath of Office to the President of India?

25.

26.

94

(1} Outgoing President (2) Vice-President
(2} Chief Justice of India (4) Prime Minister
frefafga § ® #9 ara & Tgals & w2 Oy e 27
(1) Freeam wgaf (2) w9t
3} WA F e i (4) et

The Parliamentary System of Administration is borrowed in India from which of
the following countries?

(1) USA (2) England (3) Canada (4) Australia
yeee it gEey say Frafafaa oo 4 @ fem dw @ & R 20
(1) JoTHoTo (2) ¥wivs (3) TSI (4) srefern

Who of the following coined the term ‘Harijan™

(1) M. M. Malviya (2) Vinoba Bhave
(3) M. K. Gandm (4) Aurobindo
fFefafas 4 & fped ‘efom Wt 1 goA R ar?

(1) THo THo HICHH (2) feren s

(3) o Fo el | (4) sf

11 (P.T.0.)
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27.

28,

29,

(94)

“«The State shall ensure that the cconomic system does not promuic
concentration of wealth and means of production.” Where this provision '

provided?

(1) Article 14 (2} Article 39 (3) Article 41 (4) Article 31-A
“og TR g wom f6 onfiE YoTS ¥ WOR W IORA F WA F FEET
# FemE @ e’ g7 #e v B

(1) =97 14 (2) ogw98 39 (3) TWT 41 (4) W3 31-A

Which of the following subjects was the domain of Malimath Committe:?
(1} Constitutional Reform

{2) Criminal Justice and Administration Reform

(3] Stock Market Reform

(4) Personal Law Reform

Ay gffy & donfaer # Frefafes & 9 ®=6 fomg gy

(1) Eaurf¥e qum (2) FIRINE AT UG TEA qUT
(3) RiF W W (4) dFfe fafer gem

Who of the following has not been accused in the Babri Masjid Demolitio
Case? -

(1) L. K. Advani (2) M. M. Joshi

(3} A. B. Bajpai (4) Kalyan Singh

12
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A AfEre faw w A freffas § @ R o T s T 27
(1) Usfo e I7ear] (2) To THo e
(3) To #to amemddt (4} Fem g
30. Untouchability is abolished and its practice is punishable according to :

(1) Article 15 (2) Article 16 (3} Article 17 (4) Article 15 (4)
STl WA A TS R 3R s wem fRE sieec & e gvedia 27

(1) =82 15 (2) 3g=9g 16  (3) =g 17 (4) ¥THT 15 (4)
31. The quorum requirement in Rajya Sabha is :

T § mofd ¥ ol e meet A savEar 7

(1) 25 (2) 100 (3) 50 (4) 126
32. Article 227 of the Indian Constitution deals with :

(1) the High Court's power of Superintendence of Courts

(2) Judicial Review
(3) the power of the Speaker

(4) the election of Vice-President
s=oe 227 Rt 27
(1) <ol #1 3= el $ srdieo fi i

(2) =nfasE qAfdwE
(3) wfte it wiwar

(4) IWTEART & A

94 13 (P.T.0.)
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33.

34.

35.

(94)

The headquarters of ILO is located at :

(1) Geneva {2) The Hague (3) New York
maﬁﬁaaﬂeﬁﬁﬁmﬁﬂ%!
(1) S (2) ¥ (3) =

The Members of the Rajya Sabha are elected by :
(1) the People |

(2) Lok Sabha

(3) elected Members of the Legislative Assembly
(4) elected Members of the Legislative Council
T % geE g4 9§

(1) SfdT g/

(2) ST g

(3) sl # faurmwiett % Faffad et gm

(4) Teat ft o oftwgt F fratfea gemt gm

(4) Rome

(4) T

What is the minimum permissible age for employment in anv factory or 1

(1) 12 years (2) 14 years (3) 16 years

(4] 18 vears

feft oft ¥t sromn @w A Fafe f G g smg A e

(1) 12 =d (2) 14 =9 (3) 16 a4

14

(4) 18 =9



18U/103/27 Set No. 1

36. L’_”d"?r which Articles of the Constitution are the Cultural and BEducational
Rights granted?

(1} Articles 29 and 31 (2) Articles 29 and 32
(3) Articles 29 and 30 (4) Articles 30 and 31
qrE afgar & 6 oreaRl A Gt @ N SR weT fErom 2o
(1) FT=g 29 3N 31 (2) =T 29 3w 32
(3) W=Hg 20 3 30 (4) Ig=de 30 3k 31
37. The President may appoint all the following, except
(1) Prime Minister (2) Governor
(31 High Court Judges (4) Rajya Sabha Chairman
moafa e A W R Siew oft i Fafs = w27
(1) gt (2) THaTA
(3} I AT % =t (4) T=rET * 3Teqey

38. How many members of the Rajya Sabha are nominated by the President of

India?
e ® Teefa g fead weEl w i foRn wmar 27
(1} 10 (2) 11 {3) 12 (4) 13

39. Nuisance can be :
(1} public (2) private
(3] both public and private (4) either private or public

94 15 (P.T.0.)
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A El TRl ®
(1) = (2) Fsil
(3) oi® @ il gl (4) @ & st @ e

40. The Ninth Schedule of the Constitution of India was added by :

(1} First Amendment (2) 24th Amendment
(3) 42nd Amendment (4) 93rd Amendment
wrd % wfguw # A s S

(1) Wem Foted grl (2) 24 TYtE gm
(3) 42a1 FIMEA g (4) 93 HIHA Zm

41. Under Hindu Marriage Act, Hindu includes :

(1) Buddhist (2) Sikh (3) Jain (4} All of the above
feg foame srfiiem d wyw fomg # wifim 2
(1) g (2) foerg (3) (4) ITrE T

42. Remedy of Restitution of Conjugal Rights is available to
(1) wife (2) husband

(3} wife and husband both (4) husband’s father

(94) 16
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AR F TARAGA F IJGGN I D
(1) 7ot (2) ufd
(3) ufd s o=l A1 (4) ufd % fomr =
43. An agreement enforceable by law is a :
(1) enforceable acceptance (2] accepted offer
(3] approved promise (4) contract
fafa g vedd = 2
(1) yad+a w=iF (2) =r fF T v

(3) AR T (4) dfre

Directions (Question No. 44 to 50) : In the questions given below are two statements
abeled as Assertion (A) and Reason (R). In the context of the two statements, select the
orrect answer by using the codes given below the statement.

P50 (999 H1E 44 4 50) : Bt 3ol 1 2 Fo v Y (A) 3R g5 SR (R) R mr #1 =
Fol w2y 1 3w A T Rd W om0 g w3 # 9e i

44. Assertion (A} : The Contingency Fund of India is placed at the disposal of the
President.

Reason (R) : The President is the executive head of the State.

Codes :

(1} Both (A) and (R) are true and (R) is the correct explanation of (A).

(2] Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3) (A) is true, (R) is false.

4] Al 1s false, (R) 15 true.

94 17 (P.T.0.)
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45.

TEE (A) arE &1 e it el # Folr wowd wd R
T (R) :  UgR W S FEwiEE wogie

$e !

(1) (A) 3% (R} 31 @ & a1 () H 7@ =W (R), 2

() (A) 3T (R) 31 T § v (A) B W =E (R), T 2
(3) (A) T 2, (R) T ¢

(4) (A) Te@ B, (R) F9 Bl

Assertion (A) : In India, the Judiciary is independent of the Executive.

Reason (R) : Judiciary favours the Government and helps in  the
implementation of its plans,

Codes :

(1} Both (A} and (R) are true and (R} is the correct explanation of (A).

(2) Both (A) and (R) are true but (R} is not the correct explanation of (A}

(3) (A) is true, (R) is false.

(4) (A} is false, (R) is true.

T (A) : WG H AEuiierR FRAH ¥ T 2

FAO (R) © WU GLHR 1 94 oidt € AR TR qSIe S W w6 weg w7
2

Fc

(1) (A) 3R (R) St & € U0 (A) 1 T FAE (R), B

(2) (A) 3 (R) A & 2 W (A) W =@ (R), T 2
(3) (A) ¥ 2, (R) 7T 2

(4) (A) TE@ R, (R) ¥ 2|

13
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46. Assertion () : The Council of Ministers is collectively responsible to the Lower

47.

94|

House.
Reason (R) : Most of the Ministers are from Lower House.

Cades -

(1} Both (A] and (R) are true and (R) is the correct explanation of (A).
{2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3) (A} is true, (R) is false.

(4) (A) is false, (R) is true.

TEAH (A) : HEHUSH AMfed ®9 § fOc @ F uft wamRw w2
FU (R) : g Wt et wed & 2@ #

P

(1) (A) 3 (R) 21 W & G40 (A) I ¥ =wEr (R), R

(2) (A) 3t (R) B wea ¥ W (A) H T =EM (R), T 2
(3) (A) ¥ %, (R) Tod 2

(4) (A) T 2, (R) ¥4 2

Assertion (A) : The Indian Constitution provides for single citizenship.
Reason (R) : The Indian Constitution is unitary in nature.

Codes :

(1} Both (A) and (R} are true and (R) is the correct explanation of (A).

(2) Both (A) and (R} are true but (R) is not the correct explanation of (A).
(3) (A) is true, (R) is false.

(4} (A} 1s false, (R) is true.

19 (P.T.0.)
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48.

(94)

&= (A) mméﬁwwmﬂwmmmw%!
FI (R} : ar ¥ afawm $ ol q9E 2

%E; =

(1) (A) 3 (R) 3t W AU (A) HHE AR (R), 21

@) (&) 3 (R) A wE v (A) B S (R), TR
(3) (A) ¥ 2, (R} e 2

(4) (A) TEE 2, (R) HA B

Assertion (A} : An accused person cannot be compelled to give his thum!
impression.
Reason (R) : An accused person cannot be compelled to be a witnes:

against himsell.
Codes :
(1) Both (A) and (R) are true and (R} is the correct explanation of (A).
(2] Both (A} and (R) are true but (R) is not the correct explanation of (A}
(3} (A) is true, (R) is false.
(4) (A] is false, (R) is true.
gIEH (A) ;U S F o & favg @ # FwH 4 % fom wma T fEm s
LE IR
FA (R) :  UF S ® wqd # fowg mew 4 % T e w6 B a mw
Fe .
(1) (A) # (R) aF1 @1 & aun (A) 1 &2 4T (R), 2
(2) (A) ¥ (R) T FA E T (A) FFA A (R), T 2
(3) (A) ¥ 2, (R) TeM 2
(4) (A) TeE 2, (R) & 2
20
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49. Assertion (A) : Crime is punishable because it is prohibited by the Law.

Reason (R) : Crime is revolting to the moral sense of society.
Codes :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A] and (R) are true but (R) is not the correct explanation of (A).
(3) (A} is true, (R) is false.

(4] (A) is false, (R} is true,

TEH (A) : SOUY 7usAE @ wite umn fafy § wewm fen omn @)

FMO (R) :  A0Y A & W e & feg fge )

F -

(1) (A) 3R (R) 241 &3 2 a1 (A) F ¥& =& (R), B

(2) () A (R) 3 & R g (A) B e (R), @ R

(3) (A) ¥= 2, (R) e 2

(4) (A) TEd 2, (R) T B

50. Assertion (A} : Custom to have the force of law must be immemorial.

Reason (R} : Custom represents common consciousness of the people.

Codes :

(1] Both {A) and (R) are true and (R) 1s the correct explanation of (A).

(2) Both {A) and (R} are true but (R] is not the correct explanation of (A).
{3} {A) is true, (R) is false.

4] (A) 1s false, (R} 18 true.

94, 21 (P.T.O.)
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51.

52.

(94)

YA (A) : ®fg @ R wwE A3 F W IR e e e
FRO (R) :  F @Ml H WEE SF F OIS w2

e ¢

(1) (A) 3 (R) 21 7= & aun (A) A T& =TEA (R), B

2) (4) o (R) At 7 & weg (A) B WA AT (R), T2

(3) (A) ¥9 B, (R) e B

(4) (A) Te@ B, (R) §4 2|

‘Duncan Pass’ lies in between :

(1) Andaman and Nicobar (2) North and Middle Andaman
(3) North and East Andaman (4) North and Southcrn Andaman
T o fEm R

(1) 3eam au faEm & = (2) I AUT UE IEAH F 9

(3) I 99T qF ITeAH F o (4) I qU1 SEW srEAE F o
Mahatma Gandhi was referred to as ‘The Father of Nation' first by :

(1) Jawaharlal Nehru (2) Vallabh Bhai Patel

(3) Raja Gopalachari (4) Subhash Chandra Bose
weredn e o wdwem wEfier W oam @ mE ot

(1) SETEES E€ g (2) Jgw W W g

(3) T T g (4) G¥TY =% FE g

22
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56.
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Which one of the following countries gives the ‘Magsaysay Award’?
(1) Japan (2) Indonesia (3) USA (4) Philippines
fefcifiga 8 8 slH-81 on FEE qEEn yen W 27

(1) ST (2) Tt (3) FoToTo (4) foeifers

The science of time-measurcment is termed as

(1} Horology (2) Cosmology (3) Tomology (4) Hydrology
Y- & e W R SR

(1) Frrersh (2) FwEIAS  (3) s (4) TSt

In computing, 1 nibble = ?

(1} 4 Bits (2) 4 Bytes (3) 8 Bytes (4) 8 Kilobytes
Ao (FRgfen) # 1 fFeea = 2
(1) 4 forzm (2) 4 EeH (3) 8 WELH (4) 8 Treitamsz

Who among the following are the founders of Social Networking Site : ‘Twitter™?
(1) Chris Hughes, Dustin Moskovitz, Eduardo Saverin, Mark Zuckerberg
(2) Larry Page, Sergey Brin

(3) Biz Stone, Evan Willilams, Noah Glass, Jack Dorsey

(4) Jawed Karim, Chad Hurley, Steve Chen

23 (P.T.O.)



18U/ 103/27 Set No. 1

Stor Jeafdn wwe EE (Twitter) ¥ eqgs fim 0 #4127
(1) frm =@, oA At ssganel qat, a g
(2) & T, &l for

(3) foet =, T fafemes, Fen @w, % I

(4) S wiw, Wi g, e =

57. Which of the following is not a ‘greenhouse gas™

(1) Carbon dioxide (2) Methane
(3} Ozone (4} Oxvgen
= 4 @ #9 s deEEe W o 27

(1) FEA SrEaETES (2) e

(3) = (4) AT

58. The Chauri-Chaura cident resulted in the abrupt end of which of 1

following?

(1) Civil Disobedience Movement (2} Wahabi Movement

{3} Non-Cooperation Movement (4} Home Rule Movement

- ot e ol PR B @ e o = A B R
(1) THfem smaEm sm<eH (2) @@l A=

(3) A e (4) T & AEEH

(94) 24
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59. Which of the following is the correct date on which the International Court of

60.

61.

94

Justice was set up?

(1) January 31, 1946 (2) March 31, 1946

{3) April 18, 1946 (4) April 28, 1946

fofatas § 4 39 o Ay @ e Ry ® oot e f o fowd

[
F,

oIt
1) FAat 31, 1946 (2) 7 31, 1946
(3) ¥da 18, 1946 (4) 314 28, 1946

Which of the following term is used for rocks formed deep inside the Earth as a
result of solidification of lava?

(1} Volcanic rocks (2) Metamorphic rocks

(31 Plutonic rocks {4) Sedimentary rocks

rfafigs § A @ T2 WAE TR W @ 9 wgel % fre Stoqfy & watw e A
Bffg = 2 @ F owEd g % Foraed?

(1) ST T2 (2) EUTE FEH
(3) faeit =2 (4) TR T
To which of the following, Fiscal Policy is related?
(1) Population control (2) Public revenue and expenditure
(3) Issue of currency (4) Export and import
it Aify Frefafas & 3 B awg R0
(1) e e (2) @ T U d
(3] qF 1 S R S (4) frafa wa smmE
25 (P.T.O.)



18U/103/27 Set No. 1

62.

63.

64.

65.

(94)

Which of the following term is used to refer to plants that grow in saline water?
(1) Mesophytes (2) Halophyvtes (3) Hydrophytes (4] Thallophytes

Frefaflgs 4 @ e wim &1 A fean s 8 o Ol w i owm F fm
@R At § I 27

(1) HerEEeE (2) BelETEIE (3) EIgIHISEE (4) deHrEea

Who of the following presides over the joint sitting of the two Houses
Parliament?

(1) President (2) Prime Minister

(3) Speaker of Lok Sabha (4) Chairman of Rajya Sabha
frafafes & & #17 @92 % 351 9gt f 975 d3% B svemm @ 22
(1) wgafa (2) W

(3) THETT HT AEAH (1) TN FT arega

Which of the following is obtained on a commercial scale from seawater beside
sodium chloride?

(1) Radium [2) lodine (3) Thorium (4} Manganesc

(1) ifeam (2) amErEs (3) "rfam (4) s

Which of the following is an igneous rock?
(1) Shale (2) Granite (3] Marble (4) Quartzite
26
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fefafas d & F amg wgm 27
(1) e (2) #1582 (3) wree (4) TR

66. In which of the following, the term ‘Cue’ i1s used?

(1) Chess (2) Billiards (3) Bridge (4) Squash
frfafaa & 8 fFed o ' W Wi g 27
(1) <= (2) faferada (3) forst (4) dm
67. Who of the following happened to be the first woman Prime Minister in the
World?
{1} Margaret Thatcher (2) Sinmavo Bandarnaike
(3) Indira Gandhi (4) Golda Mayer
frafefas & @ =9 favg 4 v ofgen gumash s+ o2
(1) wmie I (2) Tt e
(3) T wieh (4) Tieet #

68. Who of the following was elected President of France recently?
(1) F. Holland (2) Emmanuel Macron
(3) Angela Morkel (4} Theresa May
freforfiga § @ F9 @@ @ 4 W@ # ugafd Faffea gam 27
(1) Tho gV (2) PO AFA  (3) TIeM wh  (4) dan A

94 ¥ (P.T.O.)
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69.

70.

71.

T2.

(94)

The symbol of the Summer Olympic Games 1s :

(1) five rings of the same colour (2) five rings of different colours

(3) four blue rings (4) four rings of different colours
fersrre orafmis el F A 2

(1) wh & 71 H = o (2) 3T Hem T gim fim

(3) =m Hef fo (4) 31em wem T o 5w

‘India for the Indians’ was the political message of :
(1) Dayananda Saraswati (2) Swami Vivekananda

(3} A. O. Hume (4) D. Wacha
e B CICIEE TR S AR E 1 I+ -

(1} ZaM= ATl (2) Tl fagwm= #

(3) Te Mo FH = (4) o AT H

What is the approximate length of the Great Wall of China?

i # dan f Fan G e 20

(1) 2000 m (2) 2500 m (3] 3000 m (4) 3460 m

Which one of the following is not a Fundamental Right?

(1} Right to Property (2) Right to Assemble Peacefully

(3) Right to Religion (4) Right to Constitutional Remedies

28
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= 4 8 $9-11 ga sfusr 78 27
1) B # SAER (2) f<qd® a9 & Al
(3) ud F AT F AR (4) HduifF ITER @ AR

Fundamental Duties were inserted in the Constitution by

(1} 42nd Amendment (2) 44th Amendment
(3) 47th Amendment (4) 49th Amendment
@ w1 GfuE § wte e T

(1) 4291 H¥ied g (2) 4491 HENET FA
(3) 4791 LA g (4) 49T TENEA g

‘Right o Education” was inserted in the Part III of the Constitution by :

(1) 82nd Amendment Act (2) 85th Amendment Act
(3) 86th Amendment Act (4) 89th Amendment Act
Sfagm & dEt wm § R w st e e

(1) 82a "oieA wfufEE g (2) 859t @A fufEm g
(3) s6al dydA SR gR (4) 89 HYIHA IAEH ZW

What is the meaning of lex loci ?

{1} Law of land

(2) Sovereignty is essential for enacting laws
{3) Law of land is supreme

{4) Crown has supreme authority

29 (P.T.O.)
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76.

77.

(94

deq ot =1 o Far 87

(1) T & S

(2) fafy fmfor % o Fongm anavas 2
(3) 2= T FHA HIAMN

(4) T HarRt i @

iIn which part of the Constitution, the concept of Welfare State nne
elaboration?

(1) Preamble (2} Fundamental Rights

(3) Fundamental Duties (4) Directive Principles

Afagm & fem W A oA U5 7 sEymon et 27

(1) ST (2) g9 afrEEr  (3) g FA (4) Hfs Fome 7=

Who summons the meetings of the Parliament?

(1} Minister of Parliamentary Affairs

(2} Prime Minister

{3) President

(4) Speaker and Vice-President

U 1 AEITE FEA e 27

(1) =& w1 WA (2) o

(3) Ty (4) w3 swgefy

30



78.

79,

80.

81.

18U/103/27 Set No. 1

Which High Court in India had the first woman Chiel Justice?

(1) Madras (2) Allahabad

(3) Punjab and Haryana (4) Himachal Pradesh

ard & R I = § geet oféen qer w6t

(1) "™ (2) 3eTerEng

(3) dara wa efrrom (4) o= wRw

& Legislation enacted by a State Legislature falls in the category of :

(1) subordinate (2] supreme (3) autonomous (4) delegated
7+ faufem g Rffa fafy fem ooft 4 omar 27

(1) sTiTEy (2) Tar= (3) @ (4) wearifa

The Battlefield of Plassey is situated in :

(1) Bihar (2) Andhra Pradesh

(3) Odisha (4) West Bengal

I F gg F wd fBE 2

(1) forem ® (2) sFymen # - (3) AfEw H (4) uffsm sme A
If the arithmetic mean of 6 numbers is 45, what is the total sum of these
numbers?

(1) 27 (2) 45 (3) 65 (4] None of these

afe 6 dEAs F FARR A 45 ¥, T GEASH F FA IO T R?

(1) 27 (2) 45 (3) 65 (4) T | &g T

31 (P.T.0.}
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82.

83.

84,

85.

(94)

In an examination, it is required to get 36% of maximum marks fo pass.
student got 113 marks and was declared failed by 85 marks. Thc T TIREN:

marks are :

gl IO A F f sfiean 36Y% WIRTE FI @RS 21 TR @6 3 R
|13 37 ST FRU a9l 3 85 i H gl wifgd e foar mm o w6 Fe

(1) 500 (2) 550 (3] 640 (4) 1008

A man’s wages were decreased by 50%. Again the reduced wages were increascs
by 50%. He has a loss of :

Gt sifE % a4 B 50% @ wH s 4 M| [ W wH FRUoTm oaEa g g0, o

(1) 0% (2) 0-25% (3) 2:5% (4) 25%
The boys and girls in a college are in the ratio 3: 2. If 20% of the boys and 25"
of the girls are adults, the percentage of the students who are minor, is

fred mefaee § e dqr wefFal 3:2 & I W #| ¥R TH O 20% mzF
qM 25% TEFA] FTER 8, Al fhed Wided BE 2 S sEgeE 4

!
Al

o

(1) 58% (2) 67-5% (3) 78% @), 2230

A fan is listed at Rs 1,500 and a discount of 20% is offered on the lisi pric.
What additional discount must be offered to the customer to bring the net prie:
to Rs 1,104 7? ' '

UF UE F gHHEd 1,500 Fo R a4l gAME T 20% #3 fom wmn 21 umE 4
fra w3 =@ fon S fF 39 9@ & U 9g AW 1,104 %o 39 wao

(1) 8% (2) 10% (3) 12% (4] 15%

32
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By selling a table for Rs 350 instcad of Rs 400, loss percent increases by 5%.
The cost price of the table is

(1] Rs 435 (2) Rs 417-50 (3) Rs 1,000 (4) Rs 1,050
PRIt 0 H 400 To H AUHT 350 Fo H fama w4 W A # WiAvE 5% ¥ o
*ood F FIA T

(1) 435 %o (2) 417-50 %o (3) 1,000 %o (4) 1,050 %o

if 3 persons weave 336 shawls in 14 days, how many shawls will 8 persons
weave 1 5 davs?

qfz 5 #Afs 336 Wa 14 630 7 q7d &, 8 =t 5 B § fea wia g9 7

(1) 180 (2) 210 (3) 252 (4) 320

[f 18 ninders bind 9000 books in 10 days, how many binders will be required to
pind HHLO books in 12 days?

afz 18 faegars 10 A 4 o000 ye # ez wma #6600 TEE Fo12 B
g e @ F fou fFad fegamet &t smavasar anft?

(1) 55 (2) 14 (3} 13 (4) 11

The speed of a train 150 m long 1s 50 kmph. How much time will it take to pass
a platform 600 m long?

(1) S0 sec (2) 54 sec (3) 60 sec (4) 64 sec

150 Htex @t TemEr # =@ 50 fHodfte uf Wt 1 600 Htw W wiewd B Uw
F4 0 28 fEa oy Sy

(1} 50 &g (2) 54 HAFUE (3) 60 TFUZ (4] 64 TFZ

33 (P.T.O.)



18U/103/27 Set No. 1

90.

91.

92.

93.

94,

(94}

The size of a wooden block is (15 cm x 12 c¢m x 20 cm). How many such blocks
will be required to construct a solid wooden cube of minimum size?

frdt TEt F e F1 @R (15 Holo x 12 Howflo x 20 Hodie) 2| ~J4dn
AFE F FdF & a9 1 F fuin ww F fow W@ e g f smavema wefo

(1) 45 (2) 48 (3) 60 4) 75

The HCF of 42, 63, 140 is
42, 63, 140 F Hgud THTEOHF o

(1 14 (2) 9 (3) 21 (4) 7

The sum of two numbers is 36. Its HCF is 3 and LCM is 105. What is the sum of
the reciprocal of the numbers?

A "WEwH AT 36 B T AW FOERE 3 AU @90 wwmEds 10n -
T % oFE F AT 1 B

< o 2 4 2
(1) = (2) T (3) 35 (4) Y

The largest number that divides 210, 315, 147 and 168 exactly, is
210, 315, 147 @41 168 # YUien foonfem F0 aht weq 7d) deq 2

(1} 3 (2) 7 (3) 21 {4) 35

What is the greatest number of 3 digits which when divided by 6, 9 and 12
leaves a remainder 3 in each case? ' '

o 3Rl A ag A oS wEm FA-H 2, B o6, 9 9w 12 ¥ B w9 w
T W 3 Y &=dr 87

(1) 903 (2) 939 (3) 975 (4] 996

34
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IWhat 1s the least number which when divided by 5, 6, 7 and 8 gives remainder 3
t cach case and is completely divisible by 9 ?

I N B men F-# R, B 5, 6, 7 9w 8 # fwibe #@ w y™e @ §
1 vt @ ® oAuT O B ot fades w7

(1) 1677 (2) 1683 (3) 2523 (4) 3363

A maximum of how many picces of 12:6 cm can be cut from a 857 cm long rod?
857 Hetflo #F BT U 12:6 Wolle & firhay e z#2 @ w1 gaa 27

(1} 58 (2) 62 (3) 64 (4} 68

What decimal fraction is 40 ml of a litre?

10 fHesfto, 1 e F1 e oo firs 27

(1) -4 (2) ‘04 (3) 05 (4] ‘08

The average of all odd numbers up to 100 is ;
100 7% $t msft fam gemed w oftwa @

(1) 51 (2) 50 (3} 495 (4) 49

The average age of 3 friends is 23. Even if the age of the 4th friend is added, the
average remains 23. What is the age of the 4th friend?

(1} 21 years (2) 23 years (3) 32 years (4) 43 years

& fidt @i oftgd og 23 B W 9F & A fm A oy W e W oft stew 23
& Tmar 21 99 fim f oMy w2V

(1) 21 =4 (2) 23 = (3) 32 =¥ (4) 43 ad

35 (P.T.0.)
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100. A man covers half of his journey at 6 km/hr and the remaining hall at 3 kim/hr.
His average speed 1s @

(1) 9 km/hr (2) 45 km/hr (3) 4 km/hr (4) 3 km/hr

UF Sfh S A W a1 6 Folo/Ho 1 W & qUT WY €l 3 fhorito/He
& 9 B @0 Fa ¢l I e 9 #

(1) 9 fhodlo /To (2) 45 FHorfto /5a

3) 4 FRotilo/Ho (4) 3 fporfto /Ho
101. The place value of 7 in the numeral 634721 is

HEN 634721 9 7 F ey A 2

(1) 7 (2) 721 (3} 714 (4 TOO

102. Find out the value at the place shown by ? :

2 F W W AW Al JE R o
9548 + 7314 = 8362 + ?

(1) 8230 (2) 8410 (3) 8500 (4) 8600

103. The value at the place of ? will be :

? % T #H UE B :

o87x999 = ?
(1) 586413 (2) 587523 (3) 614823 (4) 615173
104. Find out the value at place.

— % M % AF # §dEy)
888888 - 888 + —— = 0]

(1) 88889 (2) 29 (3) 44449 (4) 11
(94) 36
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A B, C, D are four consecutive odd integers and their average is 42. What is the
product of B and D ?

A B C, D =m wavE fawm dead § aw I ofted 42 21 B AW D FWOTEEA
4 87

(1) 1860 (2) 1890 (3) 1845 (4) 1677

Kindle is related to Burn in the same way as Angry is related to

Kindle # @4 Burn & 3@ @@ 2, 99 Angry ¥ T&GY —— #|

(1] Annoyed (2) Determined  (3) Resentful (4} Furious

Boat is related to Sails in the same way as Balloon is related to

59 91 Boat &1 "= Sails q %, Fft 9FR Balloon ¥ WY — — H|

(!l Hot air (2} Rope (3) Nylon (4) Rubber

Water is to Oxygen as Table Salt is to

T Water H qei il Oxygen # %, 99 Table Salt £ gl T

(1) Iron (2} Sodium (3) Calcium {4) Proteins

Sweet is to Chocolate as Book is to
3 Sweet # a1 Chocolate F 2, ¥ Book F gE —— H|
{1} Dictionary (2) Library

(31 Encyclopaedia (4) Atlas

37 (P.T.0.)
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110.

111.

113.

113.

114.

94

There are alike in some manner and the fourth one is different. Choose out the
odd one :

% =@eR § i Uk @uA @ qo st oW 8 fr @1 3w e g il
(1) Wages ' (2) Honorarium

{3) Pocket money (4) Salary

Choose that set of numbers from the four alternative sets that is similar to the
given set (6,13, 22) :

IR Ffus GywEl § ¥ "Eend & 56 wfed W oW fifde, s1fi s oA
(6,13,22) & @A &

(1) (6,13,27) (2) (10,16, 28) (3) (11,18,27) i4) 113.19.32)

Select the pair in which the numbers are similarly related as in given pair
E5e3h)

3 gm = "ad Hifee, frd dend v gm (5:35) % aue weiR a

[1} 7587 (2) 9:45 (3) 11:55 (4) 3:24

‘Which of the following is the wvalue of 2:-57x2.-5742.57x7.43x2

+7-43x7-437
frafafad O d 2.57x2.57+2-57x7-43x2+7-43%7-43 1 9H Fm

(1) 1 (2) 10 (3} 100 (4) 200-59
Which of the following is the highest common factor of 42, 70, 98 and 126 2
frsfafigs # & =9 42, 70, 98 71 126 F I=AH HHYTAF 27

(1) 2 (2) 14 (3) 6 (4) 7
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Which of the following would be the number if the difference between three
times and seven times of the number comes to 36 ?

wﬁaﬁﬁﬁmﬁmﬁhﬁﬁ@amqﬁmgﬁ%aﬁmw%
aim?

i 6 (2) 9 (3) 12 (4) 18

Mohan sold his watch for Rs 144. If the percentage of his profit was equal to the
cost price, what would have been the cost of the watch?

(1) Rs 75 (2) Rs 80 (3) Rs 85 {(4) Rs 90

HrE A I TEl 144 %o ¥ Sem AR ww @ W vReE w9 F 5w ¥ swaw 2
91 "E F qed #+41 T@ g7

(1) 75 %o (2) 80 %o (3) 85 %o (4) 90 %o

Which of the following fractions is the biggest in value?

eretas =l g 8 g e gEe ke 27

351 29 49 9
(1} 01 (2) e (3) = (4) 5

Which of the following is equivalent of 40 °C temperature in Fahrenheit Scale?
frefefga # & #1940 °C TH F FRATREE A TEGE MY

(1} 75" (2) 80° (3) 104° (4) 112°

What percent of 70 is 461 ?

70 # 461 fpan wiowa grm?

(1} 63 (2) 66 (3) 68 4y 70

39 (P.T.O.)
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120.

121.

122,

123.

124,

(94)

If 12 men can do a piece of work in 24 days, then in how many days 18 men cal
do the same work?

a2 12 T T FE A 24 B A @ wR E, A 18 Y S A A Fad o
o HH 7
(1) 12 (2) 14 3) 16 [4) 20

A number is three less than 4 times another number. If their sum 1s equal 1o
117, then the greater number is :

UF @ Th GE( 4N F AW W 3 ®H gl Al S A 117 F gnem v, o
(1) 105 (2) 93 (3) 68 @) 72

A sum of money doubles itself in 8 years at simple interest. What would be rat
of interest?

v gIRT 8 ad # WU = g B A A SR @ owne #owoa
(1) 122% (2) 121 % (3) 12% (4) 829,

If the English alphabet is written in reverse order, which one of the fGiiown
letter will be the 14th letter from the left?

afe it aviaren &t 3@ FW 4 fomn s, @ Seiehas O o3 s oaf =t o
T W OB

(1 Q (2) M (3) P 4) O

Which one of the words given below is different from the rest?

(1) Mango (2) Pomegranate (3) Brinjal (4] Apple

frefrfas foe ™ wedi B @ W9 o @ omm 27

(1) o7 (2) 3R (3) (4) &=
40
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Which one of the following is the same as Ghee, Cream and Butter?

(1} Sweets (2) Curd (3) Water (4) Wine
frafafiaa d 4 o9 36 v @ fow yor off, v @ AEET @7

(1) frarem (2) @ (3) s (4) AT

‘House’ is related to ‘Shelter’, in the same way ‘Soap’ is related to which of the
following?

v1y Perfume (2) Cleanliness  {3) Bathroom (4) Water

Fm oyen w0 A @ weEg R, S R wER Freafafed @ & e aeg R7
Wby Hna (2) W (3) R (4) v

Four persons A, B,C, D are playing cards. B and C are partners. D is facing
towards South. Next to the right of D is B. Where A is facing?

1) South (2) North (3) West (4) East

o =fF A B,C,D O @A ® 4| B 7 C W T ¥ D F Y fam H M
%|D%aﬁ$aﬂﬁa%:ﬁsﬂr3%1ﬂmﬁmﬁaﬂt§gmaa%?

(1) afam (2) I (3) ufyem (4) @

Ram is 9th from downwards in a class of 31 students. What will be his position
from upwards?

(1) 21st (2) 22nd (3) 23rd (4) 24th
T, 31mﬁﬁﬁmﬁﬁﬁgﬁwm%|wﬁm%1ﬁwﬁfﬁ?
(1) 214 (2) 224 (3) 234t (4) 244t
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129,

130.

(94)

If paper is called ink, ink is called pen, pen is called book, book is called
dictionary, dictionary is called water and water is called milk, then which of the
following is used for writing purposes?

(1) Water (2] Milk (3) Ink (4} Pen

afg el B W FE oA ¥, W WA F@ AR, U bl Yeach w0
TEF H TECHIY FE A B, WHW F T T4 T H 29 F@ A 2, @
frafafad 4 & 6t g & wed s fen som?

(1) 9 (2) 34 (3) wmet (4) 1

If in a non-Leap Year it is Tuesday on 28th February, then what dav wij] he n
28th March? ‘ '

(1} Friday (2) Sunday (3) Tuesday [4) Saturday
afe wh H-oAfuad I 4 28 W F FER R, A 28 U # By A
(1) SpFam (2) Uaam (3) AR (4) fam
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Section—II
RCRUES | |
Either

ENGLISH LANGUAGE TEST

Note : Four alternatives are given as possible answers to each question. Give the correct
choice as an answer.

Directions : (Question No. 131-134) Select the word nearest in meaning to the given
italic word.

131. Fallacy
(1) Truth (2) Loss (3) Error (4) Weakness

132. Consecrated

(1) Accepted (2) Hallowed (3) Barren (4) Forged

133. Nebulous

(1} Clear (2) Remote (3) Barren (4) Hazy
134. Muster
(1} Collect (2) Fire (3) Report (4) Separate

Directions : (Question No. 135-138) Select the word opposite in meaning to the given
italic word.

135. Catastrophic

(1} Ruthless (2) Negligible (3) Accurate (4) Pleasant
136. Quell
(1} Excite (2) Permit (3} Prevent (4) Pacify
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137. Mettle

(1] Boldness (2) Timidity (3) Kindness (4) Mercilessness
138. Tucit

(1) Acknowledged (2) Ridiculed

(3) Spoken (4) Enlightened

Directions : (Question No. 139-142) Fill in the blanks with correct preposition,

139. She was arrested bribery charges.

(1) for () 1in (3) on (4) at

140. They seem destitute ordinary human feelings.
(1) in (2) of (3) for (4) at

141, He has been debarred

appearing at the ensuing examination.
(1) at (2) of (3} for (4) from

her behaviour.

142. They were astonished
(1) at (2) of (3} for (4) from

Directions : (Question No. 143-146) fill in the blanks with the correct word.

143. If John the invitation, he would come here.

(1) will take (2) takes (3) received 4) receives
144, Two and two four.

(1) made {2) makes (3) have {(4) has

(94) 44



145. Armyv has been

(1) kept (2) put

146. Recent events have

(1] radicalized (2) focussed

' (3) discharged

18U/ 103/27 Set No. |

in the flood-affected areas.

(3) confined (4) deployed

opinion on educational matters.

(4) rendered

Directions : (Question No. 147 and 148) Identify the part having an error in the

following sentences.
147. (1) India wins

(2) the first one-day

(3) cricket match against Australia

(4} at Kanpur.

148. (1) This room is

(2} 15 fect long and 12 feet wide,

(3) i my mathematics

(4} 1s correct.

Directions : (Question No. 149 and 150) Select the option that best expresses the
meaning of the following idioms.

149, With flying colours
(1) Luxuriantly
{3) Reverently
150. Head over heels

(1) Thoroughly (2) Indecently

94

(2} Triumphantly

(4) Passionately

(3) Leisurely (4) Humbly
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Or

HUAT
et wran wfteror

frdyr, Praffiad T (1), (2), (3) BT (4) T % TR~ AFF I P T E, Ford iy
o @ we | s wd s g

151. 4T & g9 F ®q | & & o i 17

(1) 14 AT, 1950 (2} 14 ==99=1, 1949
(3) 14 f&awer, 1949 (4) 14 faawsm, 1048
152. ‘@9 & gewm ot i foft deArd @t 9w @fewm & e smee § @w
27
(1) 343 (2} 372 (3) 380 (4) 390

153. Fm= 4 & sa-=t wm fgard fafn § fodt smft 27
(1) Tt (2) Infem (3) Hidl (4) fash

154. g a6 =1 g9 Fifm
(1) wam (2) WetarEl (3) et (4) Wt

155. =1 § 4 wd weg 2
(1) v (2) sfereme (3) sweframfyr @) s

(94) 46



156.

157.

158.

159,

160.

161.

162.

163.

164.

54!

TR F HE gi-feag @

(1) TRl + 73 (2) W + 3G (3) WEH + I
i e i gl &1 T A S Ie T Fed 27

MG (2) TRVa (3) T¥™
= H O FH-E Tee eI Ad 87

1) feaft (2) T (3) 2
‘i wee foem @l w1 R7

11 A (2) dgE (3) <

Ty Weg I fa¥igu-®Y w1 B7

(1) g (2) Y (3) 9

T R ee 2

(1) fira (2) YTER (3) 3

farg 8 @ F-W Teg WG FI Al 27

(1) ¥o@ (2) Hrz (3) =

08w # faem @

(1) TeIE (2) T (3) =M

freied g TE @ @ied e S oF wen

1) i (2) STEAR (3) Tafraw
47
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(4) q81 + 3¢

(4) HH

(4) TR

(P.T.O)
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165.

166.

167.

168.

169.

170.

ﬁfﬁﬁmﬁmﬁmﬁimﬁﬁaﬁmﬁmﬁmﬁ%ﬁaﬁﬁ@ﬁ?
(1) wieaed (2) I (3) it (4) FTEHTH
‘UREE 7 WA el —39 3 F Alad v W R7

{1) (2) P (3) Fe (4) Fard
‘ggwﬁ%m’ma@f%

(1) #=8 F U Fe (2) s AT Fww famg w
(3) 3R~ & faen (4) FFE FE

79 WATE FEA h AGF ¢

(1) gax (2) e

(3) wfgpwr ut (4) Frvdw T i Fie
qweftaEg § e |@ium (Fws) 827

(1) 8 2) 6 3) 7 (4) 5
Hew e firg 47

(1) TETgsTEE (2) weATETE (3) frramstam (4) TgTErd

* Wk

48 D/8(94)—332.



SPACE FOR ROUGH WORK
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10.

11,

12.

13.

14,

vt % foo fewm

(W & F W AR W A Sowmesie FE-T & AT JH W
Fad didft/aeft oz w4 @ fad)

v -gftr fred % 30 fee & s @ 2@ W fF wwm A wft g ez # o wE oo -
g A 21 yfere dvgw wd 9@ W 3R YT aeem Fe-TgE 1 SH w wAT R

1fea#t TR H A |
wlien wad 0 vaw-yi & sifafm, fewn @ o wd ot gen sand w104k

HloTHod o TR-T4 3w @ fon mm R4 3@ T At WF it 7§ fapa &1 AT HoWHoaRo F7-
ﬁ?ﬁﬁwm&m: %’“ﬂ'ﬁ H-I}ot_fﬂn&ﬂ?o mnﬁﬂﬂiﬁﬂﬁﬁm feran ?‘F}TI'FI

it yfafem wem saw-gn o Al /wE aa 97 @ fuife we wofad)

HoTHOH Mo IFI-TH & oW Y8 W B ¥ oA ATHA®H MHuife wm m fod am Fm fm 40
& T w7 F| FEI -l EYTE 7 Tl GIA-GIERT B HHER UF Gy KIS T AUT HE B T
st wart ww fod )

HoWedANe FHE-T4 T 3EFTS 8841, THA-Yfs &0 3 9z g&w (I F:E &) 991
TR T OSFNF o T seTede IW-T Ho R ufaftdl # iy F amwfy 74
TEw stafE § w1 oft ofads we Shes oo owfin @ aifm s me v amfa
w1 OWEIT ET AR

yr il 0 UElE uE % 9W dFferE T T mof vt e & defeus o % B amon
G-F}GQ'HUHTTD ﬁ?—ﬁffﬁﬁfﬂ?ﬁ & mm} ﬁﬂ 3 ?HEF} ﬁﬂ@ﬂ&ﬂ?ﬂ IW-TF & Uum rl
o f2d ma B & wgEw 97 ® omE e

THF TR F TR Ok 99 Faa @ g9 & ma Fow 8@ ke g w1 omm s ow oarn
mE g3 # WqW W W OFE I edd A JEm|

am 3 fr vx gm A g Sifd I agen Ad S w2 3R s el v @ gww A9 S wmee
£ @ wafug 9fF F o f@ ™ of gai F et @iz 2@ o w o wE Boaen

w4 F fod ww-gfeae F gmue F s oA 9w oaw wfm 78 W g H

wfien # #AfH % Wg vl s Sl oo IR~ wha W /T § wu CEF F Ay 3 o
W WY ysE-TEE A9 sflewHosme -3 K U A W mwwa B

T FHH B # ygd wlten wed ¥ amt 9 o wgAfa T8 enf

afe Fig st wfan # sfom oEl @ v ww R, 6 T2 fvEfEnem gm Ruifg 4w E .
am o



